/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

Cost price of 100 books is equal to the selling price of
60 books. The gain percentage/loss percentage is

100 Y&kl &1 &N Hod 60 Gl & fasd Hed &
SR 1 WA T g w1 gfavmaan ©

3 2
(1) 665%  (2) 67% (3) 66%  (4) 665%
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A shopkeeper earns a profit of 12% on selling a book

at 10% discount on the printed price. The ratio of the
cost price and the printed price of the book is

Ueh IhTRR fREl J&deh W BU e T 10% ki 2 % 9
T ol SEH W 12% T o1 1S il 21 T & A
Ied q1 39 R B9 god § UM ©

(1) 99 : 125 (2) 25 : 37

(3) 50 : 61 (4) 45 : 56
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A profit of 12% is made when a mobile phone is sold
at ¥ P and there is 4% loss when the phone is sold
at ¥ Q. Then Q:Pis

i AERd BH TP i X W &= ST @ 12% o1 o
Bl © 3R Ife T Q WX &= ST dl 4% I B Bl © |
Q:P & B ?

1) 1: 1 ) 4:5 3)6:7 (4)3:1
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Two types of tea costing ¥ 180 per kg and < 280 per
kg should be mixed in the ratio so that the mixture

obtained, sold at ¥ 320 per kg to earn a profit of
20% is

F 180 ufd formm 3IR F 280 ufa forur @ =t 21 forem
Ft =9 feg U o faen <t sq o e fasgor &6t §

320 Ufd &I &1 X | 9= W 20% HT o1 3AfSd & ?
(1) 3:13 (2) 1:13 (3) 4:13  (4) 2:13
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Ram sold two horses at the same price. In one he
gets a profit of 10% and in the other he gets a loss of
10%. Then Ram gets

9§ S THH hiAd | AH| Th H SH 10% h1 AT
T3 3R T T 10% 1 B 2l TH HI A 51 g7
(1) 2% loss / &1

(2) No loss or profit / ¥ 24, 7 o9

(3) 1% loss / B

(4) 1% profit / <4
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Mohan sold his watch at 10% loss. If he had sold it
for I 45 more, he would have made 5% profit. The
selling price (in ) of the watch was

AT 7 3T TS 10% &1 R o=l A 39 3 &l T 45
3ifereh I &= BT, a1 39 5% o el gidan q8qER, 39
oSt o1 fasd ged fohad T o ?

(1) 300 (2) 900 3) 110  (4) 270
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A fruit seller buys some oranges at the rate of 4 fors

10 and an equal number more at 5 for ¥ 10. He sells

the whole lot at 9 for¥ 20. What is his loss or gain per
cent ?

T el Tahd T 10H 4 1 X W FHD Tl BRIl € 3R
710 § 58 T 3Id4 & HR AR @lEar 21 98 F 20 d
9 ! & W HR Hd o=dl gl 3§ fead ufdea = =0
A1 AT?

19
(1) Loss per cent / B+ Ffaeid 1 1%

8

19

(2) Gain percent / ©¥ Jfaerdl 81%

(3) No loss or no profit / T BIH, T &9
(4) Loss per cent / 11 Ifa9d 2%
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A shopkeeper sold an article at a loss of 20%. But if
he could sell it at ¥ 200 more, he could earn a profit
of 5%. The cost price of the article is

Ueh SRR Teh UM 1 20% B 9 o= dferd afg
98 39 200 TUF 3fyer H o= Bl a@f 39 5% Y BIdil

TE] 1 FHIAA T -
(1) T800 (2) T1,000 (3) % 1,200 (4) T 600
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A purchased a machine at Rs. 11000, then got it repaired at Rs. 2500, they
gave its transportation charges Rs. 500. Then he sold it at 40% profit. At what
price he actually sold it?

A= T AR 11000 98 H W@R1ET 3R 9@ AT H 2500 90 T | 394
sTdb URdg | 500 39U Wd fhd | 91 H 3T 59 40% dTH TR s9T| 39 aRdd H
>d fhd Jeg UR §d1?

Rs. 18500

Rs. 17500

Rs. 19900

Rs. 19600
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Saral bought apples for rupees 300. She sold 1/3" of it at 30% loss. At what
gain % should she sell the rest so that she neither makes a profit nor loss
overall?

IR 4 300 ¥U H Hd Wi | 39 1/3 Id 30% gl WR & | Y Jdf Dl 3 [y
ATH% TR 941 91feU dlfd Dl [T 39 9 df a1y gl 3R 9 &l 8172

15%

12%

16%

24%
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Aakash sold an article and earned a profit equal to 30% of the selling price of
that article. Find his actual profit percentage (approximate).

BT = U axd sl 3R 39 I & [dehd e & 30% P aR1aR 1y 3ffoid fabar|
3YDH[ dRAdD ATH U= (SHTHT) JTd HIfSTU|

35

43

52

39
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Rajesh is a dishonest dealer. He mix ordinary rice with Basmati rice for his
profit. How many kgs of Basmati rice costing Rs. 42/kg should he mix with 25
kgs of ordinary rice costing Rs. 24 per kg so that he makes a profit of 25% on
selling the mixture at Rs. 40/kg?

oI U SgHT fAddl o1 98 I1URUI I19d &I SRIH 919d & a1y 3= arH
o [oTu fAreIrar § 1 42 SUu/fdhdr & SrgHdl arad & fdd- [hUr 39 24 Squ/fdn
& YR Ilad & 25 [HUT 4 Ay [He =1t (58 b 39, 39 [H901 o1 40
JUU/AHUT TR &9 TR 25% DT ATH gl Ab?

20 kgs
32 kgs
40 kgs

12 kgs
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The selling price of 5 articles is the same as the cost
price of 3 articles. The gain or loss percent is :

i 5 I3l 1 fashl Jod 3 ST & aNTd Hod o e
g dl oY AT B AT Yfawrd FarEy

(1) 20% gain / <4 (2) 25% gain / <4

(3) 33.33% loss / &I (4) 40% loss / @I
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On selling 17 balls at ¥ 720, there is a loss equal to
the cost price of 5 balls. The cost price of a ball is :

17 1l &l 720 %0 H 994 ¥ 5 7d & A I &

TR i B Bl € | Th 7S 1 T oI B
(1) 45 (2) % 50 (3) % 60 (4) X 55
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A cloth merchant on selling 33 metres of cloth obtains

a profit equal to the selling price of 11 metres of cloth.
The profit percent is

Ueh HuSl-fashdl 33 HieX FUST d9HY, 11 HIX HUS &

fah! Tod & &R oY I Y oidl 81 dSq9R, ST
Y9 fea 22

(1) 40% (2) 22% 3) 50%  (4) 11%
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A dealer sold a bicycle at a profit of 10%. Had he
bought the bicycle at 10% less price and sold it at a

price ¥ 60 more, he would have gained 25%. The cost
price of the bicycle was

U fasal 9 T HEfed 10% & a9 9 a9=0t| afs o8
qrsfehel 10% 9 hiAd I LSl 3R 39 60 TUT MY
& W o9dl 9l 39 25% h1 o1 BIA1l 9Efha & N
g o

(1) 2400 (2) 2600 (3) 2000 (4) T 2200
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Mahesh purchased a radio at 10 of its selling price

and sold it at 8% more than its original selling price.
His gain per cent is :

9
T2¥ A T Al sush fosha goa & Bmﬁﬁﬂaw

s Hol fakd Hed 9 8 % 3ifeeh W o=l | IHh! oIy

T

(1) 20 % (2) 18% 3)10% (4 8 %
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3
A seller sold —~ part of his articles at 24% profit and

1

remaining part sold at cost price. What is his total gain
percent

[, - 3 »
Tk fashar 7 STOT &3 H 2 e 24% &9 9 o=

R T 9N AN Hed W o9 A GEIER SHET H

Y foras gfded @172
(1) 15 (2) 18 (3) 24 (4) 32
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A merchant fixes the sale price of his goods at 15%
above the cost price. He sells his goods at 12% less
than the fixed price. His percentage of profit is :

Th MR 394 Jiel 1 Tkl g, 9 99 ¥ 15%
Aferr W 3ifRd wEar € | 98 3R A I 3ifRd g
" 12% HF R I9q@1 8 | SHBT AH Ffaw@ o

1 1 1
(1) 25% (2) lg% (3) 15% (4) 2%
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A man purchases some oranges at the rate of 3 for
Rs. 40 and the same quantity at 5 for Rs. 60. If he
sells all the oranges at the rate of 3 for Rs. 50, find
his gain or loss percent (to the nearest integer).

Teh STEHT 40 TIC | 39 W W 9 Hal TSl 8 3R
Al € AT H 9 W’ 60TIC H S HT R Y TRl T
If% o8 99t FR 50 T9C H 3 h1 R G =l €, 9 39 W
B aTet o 31e g1 o1 gfaeid (Frereaw quie o) Fmd
shifSTT|

(1) 32% profit/<d (2) 31% loss/TIH

(3) 34% loss/®TH (4) 31% profit/<H
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A shopkeeper claims to suffer a loss of 20% but uses 40% less weight than
actual. Find the actual profit/loss percentage.

i iy

Uh GHI-IGR 20% Pi Bl &1 @l DRl §, ©

[T AIdidd DI a1 1 40% HH

gl DT YA HdT © | IRAI[dP ATH/8I U

2rd 3T Dol

20%
40%
33.33%

10%
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The marked price of a bed sheet is Rs. 1500. A customer pays Rs. 1173 for it. If
the customer got a series of two discounts and the rate of first discount is 15%
then the rate of second discount was:

dsxfle @1 sifdd ged 1500 2l g1 Uh Agd 8P AT 1173 2UT YITAT DRl B
g ATgd DI HIUD al Fe [l 3R Ugdl BT 15% o dl a3kl B 2l

15%

7%

9%

8%
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If a merchant offers a discount of 4% on the list price, then she makes a loss of
10%. What % profit or % loss will she make if she sells at a discount of 20% of

the list price?

Hﬁwaﬂmﬁ%wﬂ IR 4% I B¢ Yo Dl o, dl 39 10% I gl gidl |
gic 98 3ifdhd Jod UR 20% @I B¢ YaH dRdl g, di 39 (-l dH% aT 8%
g2

25 percent loss
4 percent loss
50 percent profit

25 percent profit
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A storekeeper is offering 3 successive discounts of 20%, 30% and 25%. What
will be the effective discount received by the customer?

Uh GPIGR 20%, 30% 3R 25% I 3 it {T ¢ [l & | AGDH gRI U UHId!

Q¢ T g7

67.5%

58%

52.5%

56%




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

A fruit seller buys oranges at the rate of Rs. 10 per
dozen and sells at the rate of Rs. 12 per dozen. His
gain percent is :

U el fashdl 10 T9C 9fd <9 i X 9 a4 @<l @
3R 12 %9U 9fd &= &1 T 9 oS=dl g1 SHHT o gfae
FI 87

1
(1) 20% (2) 15% (3)12% (485 %




/@ m@mﬁ&// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO coDE : E06321 /
A fruit seller buys lemons at 2 for a rupee and sells
them at 5 for three rupees. His profit per cent is
Tk Hel fashdl T 9 W & G99 g @l @
qen 9 T H 5 & fede @ 3= d=a1 21 ST oY

gfaea -
(1) 10% (2) 15% (3) 20% (4) 25%
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By selling 14 watches of equal cost price at the rate
of ¥ 450 each, there is a profit equal to the cost
price of 4 watches. The cost price of a watch is

A Ha-Tod drel 14 =fsdl i 450 TIC gfd St i <X
¥ 9O W 4 e & $HI-Tod & SR o1 gl 81 Th

TS F FI-JoT T
(1350 (2)T360 (3)T375 (4)F 400
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In what ratio must a grocer mix tea at ¥ 60 a kg,
and I 65 a kg, so that by selling the mixture at ¥
68.20 a kg, he may gain 10%?

Teh 99 T 60 9fd foho TMo ol =™ dem ¥ 65 Ufd faho
Mo il =g okl fohdq U ® fheme, aifew fasgor =6t 2
68-20 gfd foho o & 9 & a9 W I 10% H1 TN

(1) 3:2 (2)3:4 (3)3:5 (4)4:5




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

If the profit on selling an article for I 425 is the same
as the loss on selling it for ¥ 355, then the cost price

of the article is

gfe fordt oeq &1 425 ® § o= T g3M o9, 3R 355 ®
T o= 9 g o1 o 9UeR 21 dl o5 1 hd Hod 1
(1)T370 (2)¥380 (3)T390 (4)F 400
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A man purchased an article and sold it to B at a
profit of 25% and B sold it to C at a loss of 10% and

C paid ¥675 for it. For how much did A purchase it

(in ¥) ?
A 7 TH o] TS AR B Hl 25% N W 99 M| &

a5 B 7 C &l 10% BMfH W &= a5 C 4 675 € H Bt

gl dl AF oo & H @0t BT
(1) 625 (2) 575 (3) 600  (4) 550
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A person sells two machines at ¥ 396 each. On one he
gains 10% and on the other he loses 10%. His profit or
loss in the whole transaction is :

U Afad < Tl $I YAF H T 396 H S=al 2l Th
T W 10% o9 3R I AT W 10% BT AT HLal
gl W -3 W SHHT 19 AT BT M T2

(1) no gain no loss/d¥ 3R ==

(2) 1% loss/@1H

(3) 1% profit/<4

(4) 8% profit/<l¥
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The total cost price of two watches is ¥ 840. One is
sold at a profit of 16 per cent and the other at a loss
of 12 per cent. There is no loss or gain in the whole
transaction. The cost price of the watch on which

the shopkeeper gains, is

3 ufegdi &1 F HA oI 840 ® 81 Th 1 16% TN W
Sol ®1 IR A HI 12% B W S=ar g1 gl uferan |
T 1 o SR 7 B g2 f99 U€t W THFRR il AT g2

€ SR hd Hod 1 BT
(1360 (20370 (3)¥380 (4) % 390
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A fruit seller buys some oranges at the rate of 4 for3
10 and an equal number more at 5 forg 10. He sells

the whole lot at 9 forg 20. What is his loss or gain
per cent ?

U ®d fapaiT 10T 4 W W 3 Tl BT € 31N

F10 § 5 W 34 & Il AR ©liEar 21 98 F20H 9

FT X W 9R R d=a1 g1 39 Toraw wfasm =f = oy
g3

a) 119

31 % Loss per cent /i &I

19
@ 81

(3) No loss or no profit/a @49, 7 B
(4) Loss per cent 2%/l

% Gain percent/<H
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Krishna purchased a number of articles at ¥10 for

each and the same number for ¥ 14 each. He mixed
them together and sold them for ¥ 13 each. Then
his gain or loss percent is

FON FS IqE F 10 T 1 o6 919 9 q1 3a1 af I&u T
14 % 1 o 99 9 B{cdl € 98 94 & e 13 9

| & 99 9 99 a1 el 3THT oy I BT = &
(dfae 9)

1 2
(1) 8§% Loss/ T (2) 85% Gain/d4

2 1
(3) 8§% Loss/ B4 (4) 85% Gain/ ©¥




